1.

the 2 lA x 9 gh2?

D 7+8V2 @ 7+8V3
@ 8+8V3 ® 9+8v2

® 8+8V2



“-6em -7

-

cm

cm



b i |
Hols Fs5tH? (¢, sind3® =
0.68, cos43° = 0.73, tan43° = 0.93

)

O& IHA AZ444E ABC 9

® 73 @ 1241 ® 16.58

@ 2482 (B 49.64




4. o 2" A4 ABC 9 =99 4
o] & Fatodzt. (H, sin55° = 0.82, cos55° =
0.57, tanb55° = 1.43)




o ARGl X,y o 8
ol-g-ate] A7u| 2 Lrehd 212

® x=5sin20°,y= Sin520°
@ x= tanZQO“ = 5812 20
® x= tan520° Y CO%20°
@ x= c0s20° "7 sin20°
®x=—> >

~ tan20° *° T sin20°




6. the 2N AH 9 Polg Fohu?

A
B
D V2cm @ V3cm ® 2vV3cm

@ 3v3cm ® 443cm



ku)

= A2 ABC oA A =34°
o, 0] BC & ot} (T, sin34° =
0.5592, cos34° = 0.8290 )




8.  o& I x4y g2?

@ 83 @ 93 ® 10V3
@ 11Vv3 B 1243




0 2T 2ol RelA 1m HolH A A HAA LRe] B7]
2 2T 7o A7)7} 45° A URe] RolE Fajolat (@
sin48° = 0.74, cos48° = 0.67, tan48° =1.11 = 74]/;_]"‘?}‘:]')

tl

<48°
“~--1m---"B



10.

N

N

1017} 10m Q1 Arehe]7t o2 1/l

o] B A4 gt Atrkeiet AW
| o] &= Zte] 2717k 62° 4 o, A
O 2 HE Attt 7t g 37k 9
o] & Wh&§lsto] & A A7t
T3t (F, sin62° = 0.8829,
os 62° = 0.4695, tan 62° = 1.8807)

[

XNoHE 2

n




11.

ChS 27 o] vl et vl
Sl Apol el Ael k2t o), el e L

\’B"

0

Srfe] Zej7] g viet & 2ke] 277} ~~2lm--
15° o 9lehl, SThe] ol i=?

@ tanl5°m @ 21tanl5°m @ sinl5°m

@ 21sinl5°m ® coslh°m



12.

oF 193 2 HAAEY ABCD 9
HolZ Fatole)




13. v 2 BAARY ] Yol it
w9

@D 41V2 @ 4242 O 432
@ 442 ® 452




14.

ttS SHAHE]E ABCD oA AC =
18 cm, /DOC = 60°¥ ©j, DABCD 9]
Blo|E Fotofet,

B on?




15. The HAAPAG] Yol 2 Tatelet, A D




16.

o2 -3} o] «C = 90° 1 HZHA
Z}d ABC A AC 9] ZAol& F5t=
2129
@ 5sin40° @ 5cos40°
5

5 tan 40° —_—
® ‘an @ tan 40°
5 sin 40°

)




cos 35°
@ x=10tan35°
10
sin 35°
@ x = 10sin35°

® x=10cos35°




18.

& 189 gABCD ©A /BAC =

/ADC = 90° o], BC = 8c¢cm
o] Ao Fatofat

b -

o]
=

, CD

60°

Do

B\

~- 8cm - -



19.

ku)

S 7472 ABC oA /A =34° 4
o, 0] BC & #ot9H? (&, sin3d4° =
0.5592, cos 34° = 0.8290 )

@ 20.141 ¢m @ 21.523cm

@ 22.368 cm @ 23.694 cim

® 24.194cm



20.

the I8 8 AABC 94 AB = 4cm
,BC =8cm, /B=60°<4 o, AC 2] Zo]

=7
@D 43cm @ 5v3cm
® 6V3cm @ 5v2cm

® Tcm




21. o237 2 AABC 7} 9tk AB =
20cm 22l & o, x o] do]=9
D 8V3cm @ 9+3cm
® 10vV3cm @ 11 V3cm
® 12vV3cm




22. o3& 179 AABC Y] Hol=?

D 7V2cm? @ 14V2cm? ® 21V2cm?
@ 282 cm? ® 56 V2 cm?



23.

ot

o

A2 0] Wol & o

D 7V2cm? @ 7+3cm?
® 8vV2cm? @ 8+v3cm?
® 9v2cm?

185°

B ~-16em--~



24. g 190 47| Yol S £A 7@

27
@D 24cm? @ 242cm?
® 24+3cm? @ 48cm?

® 48+v2cm?




25. the T} o] Wale] wkxgo] Zo]s} A
3cm 0] AT @Ho] o] 2 7ho] 37
7} 60 Q1 Ee] g Fo1H?

D 6v2rcm? @ 7V3rcmd ® 9vV3rcm?

@ 11 V27w em? ® 27mcem3



26. T2 1™ 9] AABC oA AC =
6cm, AB = 8cm, /A = 60° ¥ o, BC
o] o] Fafolat.




27. U2 2" Z2 AABC oA =9]
AH 9] Zo|& F5HH?

D V3 @ 23 ® 3V3




